| | | LIST OF HSVP HAPPINESS MULTIPURPOSE MARKET, SECTOR 82, FARIDABAD TO BE E-AUCTION ON 22.02.2023 | | | | | | | |
|--------|----------------|--|--------|-------------------------|---|-------|-----|------------------|---------------|
| Sr No. | Auction_ Id | Estate | Sector | Active Plots Name | Auction Description | Area | FAR | Reserve Price | EMD Amount |
| 1 | 61052 | Faridabad | 82 | 29 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 2 | 61051 | Faridabad | 82 | 28 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 3 | 61050 | Faridabad | 82 | 27 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 4 | 61049 | Faridabad | 82 | 26 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| | Ĩ | | | | | | | | |
|---|-------|-----------|----|----|---|-------|---|---------|-------|
| 5 | 61048 | Faridabad | 82 | 25 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 6 | 61047 | Faridabad | 82 | 24 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 7 | 61046 | Faridabad | 82 | 23 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 8 | 61045 | Faridabad | 82 | 22 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| 9 | 61044 | Faridabad | 82 | 19 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
|----|-------|-----------|----|----|---|-------|---|---------|-------|
| 10 | 61043 | Faridabad | 82 | 18 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 11 | 61042 | Faridabad | 82 | 17 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 12 | 61041 | Faridabad | 82 | 16 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| 13 | 61040 | Faridabad | 82 | 15 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
|----|-------|-----------|----|----|---|-------|---|---------|-------|
| 14 | 61039 | Faridabad | 82 | 14 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 15 | 61038 | Faridabad | 82 | 13 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 16 | 61037 | Faridabad | 82 | 12 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| | | | | 1 | | | | | |
|----|-------|-----------|----|---|---|-------|---|---------|-------|
| 17 | 61036 | Faridabad | 82 | 9 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 18 | 61035 | Faridabad | 82 | 8 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 19 | 61034 | Faridabad | 82 | 7 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 20 | 61033 | Faridabad | 82 | 6 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| 21 | 61032 | Faridabad | 82 | 5 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per | 9.303 | 1 | 1324700 | 66300 |
|----|-------|-----------|----|---|---|-------|---|---------|-------|
| | | | | | Architectural Controll Drawings to be provided by the Department.) | | | | |
| 22 | 61031 | Faridabad | 82 | 4 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 23 | 61030 | Faridabad | 82 | 3 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |
| 24 | 61029 | Faridabad | 82 | 2 | Kiosk Area (3.05 x 3.05), Area = 9.303 sqm,(The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/ galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department.) | 9.303 | 1 | 1324700 | 66300 |

| | Note 1 | Bidders are requested to check final list before bidding. | |
|--|--------|---|--|
| | | EMD is calculated on Reserve Price, the first round of bidding will start from Reserve Price fixed by HSVP. | |